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POPULATION STUDIES
Paper - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Which of the following states is correct to describe level of Total Fertility Rate (TFR) of
more than 3.0 (Latest SRS figures 2013)

(I) Bihar and Uttar Pradesh

(2) Bihar, Uttar Pradesh and Rajasthan

(3) Bihar, Uttar Pradesh, Rajasthan and Madhya Pradesh
(4) Bihar, Uttar Pradesh and Madhya Pradesh

2. Match items in List-I with those given in List-II.

List -1 List - II
(a) Essay on the Principle of Population. (i) Coale (1973)
(b) Limits to Growth Study. (i)  Bloom et al 2003
(c) Conditions for transition to low fertility. (ii1)) Meadow et al 1972
(d) Concept of demographic dividend. (iv) Robert Malthus

Codes :

(a) (b) (©) (d)
(H  Gv) (i) (i) (1)
(2 Gv) (i) (1) (i)
(3 (@v) (i) (iii) (1)
@ (@v) (1) (i) (iii)

3.  Arrange the following countries by increasing level of infant mortality rate in the country.

(a) Japan (b) Sweden
(c) France (d) United Kingdom
Codes :

(1) Sweden, Japan, United Kingdom, France.
(2) Japan, Sweden, France, United Kingdom.
(3) Japan, Sweden, United Kingdom, France.
(4) Sweden, France, Japan, United Kingdom.



SHEEAT AeTTT
g - 11

A : T U H IO (50) Tg-foshedid WY € | e U9 % g (2) 31 § | Wt v Sierd |

1. Feffed 4 9 o9 @ 19 o7 o9 R (STRR) o 3.0 T 34 (T9.31TE. & 2013 &
3iiehe) 1 U L o foIT TEl & 2
(1) foR Ta I m=en
(2) T9ER, ST USYT UE TeTer=
(3) TR, ST =T, TSTIH Ta e T_9T
(4) TR, ST IS TS HeT UR ¥

2. G-I %! TSl Hl GAI-11 7T o T GAford HitT |

=t - 1 = - 10
(a) STEE % fEd T ey (i) T (1973)
(b) Fhg 3T HT FHTT (i) =9 T TA 2003
(c) TH=T ST &THAT o HehHUT (ZITST9H) o Torw ferfera (i) HreT we T (1972)
(d) SFAIRSTHT AT S STTLRT (iv) e AT

(a) (b) (c) (d)
(1 aGv) (i) (i) (@)
(2)  Gv) (i) (@) (i)
3 @) (i) (iif) (@)
@ (@) (@) () (i)

3. TefaE 32T i 3 aF H Y] 9 §X 3 a8 ¥R % STEN SFaed ST |

(a) SMUE (b) e
(c) i (d) TS fen
G YA

(=N

(1) e, S, gArees fhred, Hid

(2) SUE, Wied, Hid, RS hrey

(3) SUM, Wied, gArees fhed, Hid
(4) e, %Y, ST, FAReS fhrey



4. The 2011 census of India was carried out in how many districts ?
(1) 610 (2) 620
(3) 630 (4) 640

5.  Assertion (A) : The economic impact of improved reproductive health on Women’s lives
begins with improvements in their own health in which access to family planning
plays a key role.

Research (R) : Access to family planning results in having lesser number of children
which in turn encourages women to participate in income generating activities.

Codes :

(1) Both (A) and (R) are true, (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, (R) is not the correct explanation of (A).
(3) (A)istrue, (R) is false.

@) (A)is false, (R) is true.

6. Who among the following worked on cost-benefit analysis of family planning
programmes ?

(1) Stephen Enke (2) C. Chandrasekaran
(3) John Coldwell (4) John Bongarts

7.  Arrange the following Union Territories in descending order (top to bottom) according to
the Crude Birth Rate shown in the SRS Bulletin September 2014.

(i) Dadra & Nagar Haveli (i) Daman & Diu
(i1i)) Puducherry (iv) Lakshdweep
Codes :

(@, (), (iii), (iv) (2) (), (i), (v), (@)
(3) (i), (i), (1), (1v) (4 (v), (ii1), (iD), (1)

8.  According to the SRS Bulletin of September 2014, the infant moralality rate in urban
areas of India is :

(1) 24 (2) 25
3) 26 4) 27



4.  YRA Hl FUFT - 2011 i b et 9 foam mam 2
() 610 (2) 620
(3) 630 (4) 640

5. AfvHAT (A) : AfcTe & e W Gd AEEsH TR & S THTe 1 3TRY 37 370
WA ¥ R § BT, ST uiar st s giaenst st Sucisar g feer e § |

7% (R) : TRER @S & Qi i Suctsddr & gRum ey w5 s Ue7 8 € | g6d Hieand
TS aTet Tiatarear § 9T o= o fefT IR it & |

E T

(1) (A) 3R (R) I W& & 741 (R), (A) 1 Tel =T L ¢ |

2) (A) &R (R) T GEl &, Al (R), (A) I Hel = T s |

(3) (A)TEE W(R)TATE |

4) (A) T § W (R) HlE |

6. T=fafea 7 @ g aRar FIis SEHAT o AnTa-onT [aeewor 9 6 fhar 2
(1) W€Ced T=F (2) 9. TEIEHE
(3) ST Freget (4) S F=TEH

7. UHARNEH. TAlCA-A, 2014 T SR1E TE SN 5 5T (S 9 1) % AR rAretiad Fa-
AT &5 I STERREN 568 H e ST |

(i) 3R UE TR gt (i) I wE
(i) g (iv) eI

£

(L @, (), (i), (iv) (2) (), (iid), (iv), (1)
(3) (i), (ib), (1), Qv) (4) (), (i), (i1), (1)

8. TUH.IRTY. olleA-1aaeR, 2014 % STHER 9RA & TR &= § R JI WE
(H 24 (2) 25
(3) 26 4) 27
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13.

14.

15.

Even after achieving replacement level of fertility, why population continue to grow ?

(1) Due to population ageing (2) Due to mortality
(3) Due to population momentum (4) Due to migration

According to the census of India-2011, the proportion of population in the age group 15-
59 years in urban areas to the total population of India is around;

(1) 60 percent (2) 62 percent
(3) 64 percent (4) 67 percent

Under the Pradhan Mantri Swasthya Suraksha Yojana (PMSSY), in which combination of
cities, new AIIMS like institutions have been established in all the four cities ?

(1) Rishikesh, Raipur, Jodhpur, Jabalpur.

(2) Bhbaneshwar, Rishikesh, Jodhpur, Raipur.
(3) Patna, Bhubaneshwar, Rishikesh, Varanasi.
(4) Patna, Bhubaneshwar, Bhopal, Lucknow.

Who among the following proposed ‘Logistic curve of population growth’ in the area of
population theories ?

(1) Pearl and Reed (2) Marx
(3) Engels (4) Alfred Sauvex

Which among the following is not the feature of Rastriya Swasthya Bima Yojana (RSBY)
(1) The hospitalization coverage upto ¥ 30,000 per annum.

(2) Transport expenses of I 100 per hospitalization.

(3) OPD services may be availed in empanelled hospitals.

(4) The beneficiaries need to pay T 30 as registration fee.

In which of the following year ‘Target Free Approach’ was adopted in the family welfare
programme in India ?

(1) 1996 (2) 2005
(3) 1997 (4) 2002

Arrange the following bigger states in descending order (top to bottom) according to crude
birth rate as shown in the SRS Bulletin September 2014.

(i) Bihar (i1) Uttar Pradesh
(ii1)) Madhya Pradesh (iv) Jharkhand
Codes :

(L @), (), (id), (iv) (2) (@), (@), (1), (iv)
(3) (i), (v), (1), (i) (4) (v, (iid), (1), (D)

Paper-11 6 J-15-16
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15.

TS & OO R (Reigie oaet it wieferet) st Witd & aasg, =& SHaeT ghg SRt
T & ?

(1) SHU@ % Fg & % HRUT (2) Tg & BN
(3) SHEE Gl (WIS qu=H) & RO (4) TG & HRUT

IR I SFUAT-2011 & AR 9 &5 H 15-59 a9 o SY-TYg § SO 1 3T TR
T STHEAT I T &

(1) 60 AT (2) 62 gfTeE

(3) 64 Afde (4) 67 dfawE

TFES T T AT (PMSSY) & idid, el & 6 99 § oifaet IRAT STgfasie
FEIH (AIIMS) & TH ST Tt ot T2 & 2

(1) Hiveel, TER, SR, ST

(2)  YETR, FTh, ST, TR

(3) T, YEHYAR, HIUHTT, SRTOTAY

(4) T, YA, TS, &S,

frAfeiEad & ¥ v SO STl o &F B SHUE gt & Jhaemd as (Aiiess &)’ it
TRATTe TR 2

(1) U RS (2) w=E

(3) UsieH (4) FThe o

7= ¥ 9 @9, Tedg @ €91 gt (RSBY) H dfnferd T2 E

(1) /Eae § 9dl gF W T 30,000 Ufd a9 dh e @ i giaer |
(2) wfa SrEEeT 9ol W3 100 T AR 24 |

(3) gdlog (THFTE) STl o ISt HaT U e i Groer |
(4) o % T USTIshRoT Yo T 30 STHT I i SNavThal |

fF & ¥ T 9y YR H IRAR e Hsed | o Jokd SUNTH STOATT 71T
(1) 1996 (2) 2005
(3) 1997 (4) 2002

e’ 2014 % THARTH (SRS) Foiled & SFER, ST 9 X & T | 7 I 541
AT (ST =) 359 H @IT | e i TerdaT § Fel STl 997 Y |

() TR (i) ST

(i) =& TR (v) RGeS

£

(D) (@), (b, (i), (iv) (2) (), (), (1), (iv)
(3) (@), (iv), (1), (i1) 4 (@v), (), (i), (1)
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16. Assertion (A) : The results based on large surveys and census data related to fertility
levels suggest that there is declining trend in the levels of fertility in the country.

Reason (R) : The factors affecting fertility behaviour, of the country’s population in
general and eligible couples in the reproductive age group 15-49, in particular are
working effectively.

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, (R) is false.

@) (A)is false, (R) is true.

17. Match items in List-I with the item in List-1I given below :

List - I List — IT
(a) Age at marriage (i) Fecundity
(b) Natural fertility (i) Monthly chance of pregnancy
(c) Observed fertility (111) Hajnal
(d) Fecundability (iv)  Actual reproduction

Codes :

(a) (b) () (d)
(H @) (3Gv) (i) (1)
(2 @v) (i) (iii) (1)
(3) (i) (1) (iv) (i)
4 (i) (i) (1) (iv)

18. Which of the following group of states correctly describe descending level of infant
mortality rate (high to low) per SRS, 2014 figures ?

(1) Bihar, Madhya Pradesh, Rajasthan and Uttar Pradesh.

(2) Assam, Madhya Pradesh, Rajasthan, Uttar Pradesh and Odisha.
(3) Bihar, Madhya Pradesh, Odisha, Rajasthan and Uttar Pradesh.
(4)  Assam, Odisha and Uttar Pradesh, Chhattisgarh.

19. Among the below listed measures of fertility, which one is the most refined ?
(1)  General fertility rate (2) Total fertility rate
(3) Net reproduction rate (4) Total marital fertility rate



16.

17.

18.

19.

ATUHET (A) ¢ T TR T Tt 58 HATT 3R SFRIOMT & 3Tiehe I9ITd & b <91 | US9 &
TR 1 TRee & T (e Zed) & |

q% (R) : 9 ®T F 97 Sl SAGEAT 3R foeis ® & 15-49 I % YGRS SH g | U
AT o WS S8R o Sheh THTEIcaTs e & § & T © € |

G YA

(1) (A) TS (R) 3N Tl & 3T (R), (A) ! Tl AT |
(2) (A) W (R) 3T W&l &, v (R), (A) T Tel =T Fel ¢ |
(3) (A)TEE, 3 (R) T & |

(4) (A) T E, AR(R) T |

G-I T -1 § GATAT Y | e & TTeom § Tal I A |

=t - 1 = - 10
(a) Toame =t 3w () ST
(b) WIFRAH TS (i)  THTE T T ST
(c) T I (iii) &SI
(d) S eTHar (iv) ardTTH GG

(a) (b) (© (d)
(H G @Gv) (i) (1)
@ ) (i) (iii) (1)
(3) (D) (1) (iv) (i)
4 (D) (i) (1) (iv)

TH SR T - 2014 (SRS-2014) % 3Tihgl o THR T4T o1 i 91 T V1Y) 9T X o 3FeRiE!
A (o9 H ) o TE-Tel R AT & 2

(1) R, TRy, TR, ST

(2) ITEH, HEAWRY, TSI, STURY, ST

(3) fwR, v uew, STEeN, T 3R 3T IReT

(4) 3T, TR, IATRY, SAGTE

ST & T ST & T uiisha s ar e ?
(1) 9 HH 95 5 (2) FA TS T
(3) T TAGAEA T (4) FoT SAEH TSI X
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20. Which of the following expression is used to compute expectation of life at age x ?

T)C T)C
m T @ 7
L)C L)C
3 7 @

21. Arrange the following States of India in descending order of exponential rate of
population growth in the decade 2001-2011 census of India.

(a) Bihar (b) Uttar Pradesh
(c) Rajasthan (d) Madhya Pradesh
Codes :

(1) Bihar, Rajasthan, Madhya Pradesh, Uttar Pradesh.
(2) Uttar Pradesh, Bihar, Madhya Pradesh, Rajasthan.
(3) Bihar, Uttar Pradesh, Rajasthan, Madhya Pradesh.
(4) Uttar Pradesh, Madhya Pradesh, Rajasthan, Bihar.

22. Arrange the following States of India by decreasing order, according to full immunization
of children age 12-23 months as per the NFHS-3 Report.

(a) Kerala (b) Tamil Nadu
(c) West Bengal (d) Haryana
Codes :

(1) Kerala, Tamil Nadu, West Bengal, Haryana.
(2) Kerala, Tamil Nadu, Haryana, West Bengal.
(3) Tamil Nadu, Kerala, Haryana, West Bengal.
(4) Tamil Nadu, Kerala, West Bengal, Haryana.

23. Which among the following statements describe the status of Jansankhya Sthirta Kosh
(Population Stabilization Fund)

(1)  One division of Ministry of Health & Family Welfare.
(2)  An Independent Autonomous Body.
(3)  One division of Department of Family Welfare.

(4) One section of division of Maternal and Child Health in the Ministry of Health &
Family Welfare.



20. W x W e FeTeT & TMAT % fow fefatad @ 9 g iyt & wamm s §

T, T
O @ 7

Lx Lx
G 7 4) Py

21. 3 2001-2011 H ST H SIS Jieg o =T 3T o AR, YR o =T T591 ' STeRET

(a) TR (b) SWWRYH
(c) oI (d) T UR
[ YA

(=N

(1) TR, ToH, TRy, ST Wee
(2) SR, [BR, 7 Ue¥l, TTe
(3) [RR, ST U9, TSI, T 79
(4) T URY, HeF TR, ToH, foer

22. TAUHTAUE-3 (NFHS-3) &I RUL 3 SR 12-23 A & R7¥] o J0T HicRetor < da o e s
T TR 567 | FME

(a) F (b) T
(c) T &me (d) =i
G YA

(=N

(1) ohe, AHeHTS, U8, ERamT
(2) e, AHAATE, BRATOM, .S
(3) TrHEATS, e, ERATOT, .aTme
(4) dHATS, T, U.aT, ERA0T

23, frAfaRad § ¥ S |7 gerded U (R ST (SHEE Rk i) 1 oo ST §
(1) &g Ud URER HeAToT HATerd 1 Ueh [T

(2) TH W@ AR @rad Fe
(3) URAR FHeAToT fouNT ST U T

(4) T TE URAR HeA0T HAd & HIgeh SR et e [T &1 U STEs



24. During which of the following period, India’s family planning programme was declared as

family welfare programme :
(1) Mid Sixties (2) Mid Seventies
(3) Mid Eighties (4) Mid Fifties

25. Which of the following sequence of countries correctly lists four most population

countries in the world according to the U.N. Demographic Year Book ?
(1) China, India, USA, Brazil. (2) China, India, USA, Indonesia.
(3) China, India, Indonesia, USA. (4) China, India, Brazil, Indonesia.

26. Identify one of the given category of unorganised workers, which is not covered under the
‘Rashtriya Swasthya Bima Yojana (RSBY) ?

(1)  Street Vendor, MNREGA workers, Beedi workers, Truck drivers.
(2) Domestic workers, Steel vendors, Beedi workers, Sanitation workers.
(3) Rag pickers, Auto/Taxi Drivers, Rickshaw pullers, Pottery workers.

(4) Street vendor, Beedi workers, Sanitation workers, Farm labourer.

27. Urbanisation increases in direct proportion with
(1) Zero Population Growth
(2) Crude Birth Rate
(3) Increased non-primary activities

(4) Increased exclusionary zone of urban activity

28. Which among the following is not true about green revolution in the context of high

population growth rate during 1961-71 ?

(1) A change from traditional mixed crops to monocrop.
(2) Intensive applications of water, fertiliser and pesticides.
(3) A reduction in the use of hybrid seeds.

(4) Increase in intensity of agriculture by reducing the fallow land.



24.

25.

26.

27.

28.

frfafea O 9 g 2@t 9 9T & IRAR A SHEs$y & 9RaR Hedol HEsd & 9 J
TS fepam T

(1) 9 390 & 7 | (2) 3Ted 3o & HEA |
(3) W HHE | (4) DSIHHAA Y

T T T ST Ak & & AR, 3T H IR Tag e SIS aret 3900 & T8y
H 9 9 9 9 91 99 Tl 5T Jawdm & ?

(1) T, IR, TR, Frsitet (2) T, R, SR, TS

(3) T, R, TSHTET, SRR (4) T, IR, ST, TSR

TGS &1 1 A0 aTel 39 A0 THE I g™ &, S T @ied 91 as+r (RSBY) H
AR RIDIE

(1) O T aTet, T HS1gR, siel To1gY, 2o dTeteh

(2) ENT] HeTdS, Wl o aTet, St ToIgY, e TSTeY

(3) el o I, 3T/t Ao, R =i aTet, Mgt o s s ool

(4) O T AT, el ISTe, TS HeTey, Wided Istgy

Frefeiad | 9 fhgeh UedeT ST o Q1Y FRIsh0T gl ¢ 2

(1) e ¥ 3 g

(2) RIS 9 T (S 99 1)

(3) 3ifyer TR-mafhes idfatet

(4) T AT T UNEted STTaSHBRI & (3hIsg TSRl STH)

fferfiaa # @ 1 q28 1961-71 % SR 3=0 SHEE Jihg X & T3 H 8 Shifd & an | Tt
T E?

(1) YRR M wHe ¥ Tshel HEA ST & 317 IReeH

(2) ST, e T HISARTR BT e ST

(3) e SIST (BTESiS W) & SUART | et

(4) O G (B ©8) § FHH AT gL Gl Bl TEAN H Fhg
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29. Match the items given below in List-I with the items in List-II.

List - 1 List — II

(a) 1992 (1)  UN Framework convention on climate change, Paris.

(b) 2002 (i) UN conference on Environment and Development, Rio-
de-Janerio.

(c) 2012 (i11)) UN Framework convention on climate change, Doha.

(d) 2015 (iv) World summit on  sustainable = Development,
Johannesburg.

Codes :

(a) (b) (c) (d)
1 G (iv) (i) (@)
@2 @ (i)  (iv) (i)
3 ) (@1v) (@) (i)
@ () (@) (i) ()

30. Match items in List-I with those in List-II.

List -1 List - II
(a) Kyoto (1)  Earth Summit
(b) Rio-de-Janerio (i)  UN Frame work convention on climate change
(c) Paris (i11)) World summit on sustainable development
(d) Johannesburg (iv)  UN climate change conference
Codes :

(a) (b) (c) (d)
@O @ (i) (i) ()
(2)  Gv) (i) (i) (@)
(3 ) (@) (iv) (i)
@ @) (@1v) (@) (i)

31. Which among the following was not adopted by India to increase food grain supply to its
growing population ?
(1) A change from monocropping to multicropping.
(2) Increase use of bio-fertiliser.
(3) Increase use of irrigation.

(4) Increase use of technology.



29. -1 TST i GeAI-11 § §F T 7T o T GAferd hifT -
=t - 1 = - 10
(@) 1992 () SToErg UREt WS TS SOl §EhE, iRE
(b) 2002 (i) AR Ue forehr o) Hge T IeH, Ret-fesmRet
(c) 2012 (iii) STeTaTg URed TR G T TR I, ST
(d 2015 (iv) Fad foere T favea ReR geier, Semer
T

(a) (b) (c) (d)
1 G (iv) (i) (@)
@2 @ (i)  (iv) (i)
3 ) (@1v) (@) (i)
@ () (@) (i) ()

30. -1 F T B -1 T S g

=t - 1 = - 10
(a) T (i) gt ForeY e
(b) TenfesmRen (i) oAy UREdT W e T U@ FHH
(c) uRg (iii) Fad o I fova fmeR awie
(d) STemHer (iv) TgF T STerarg uRae Tee

(a) (b) (c) (d)
@O @ (i) (i) ()
(2)  Gv) (i) (i) (@)
(3 ) (@) (iv) (i)
@ @) (@1v) (@) (i)

31. Ffcfed o 9 fhae! TR §RT ST SIHEEAT sl @RI 3t 3Y(d g o fole Fel 7o = 2
(1) TUHA FEA SR W Tg-TdeA IR bt 3T IR
(2) SII-3RE (ST HICAESR) & ITAN H Iy
(3) s & swam & iy
(4) TR (ST & ST § gy
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32.

33.

34.

35.

36.

Growth in urban population is observed in which of the following situation ?

(1) Population growth is zero.
(2) Industrialisation is faster.
(3) Growth of construction sector is more.

(4) Land acquisition is faster.

Sex ratio in India is defined is
(1) Males per 1000 females (2) Females per 1000 males

(3) Males per 100 females (4) Females per 100 males

City primacy in the capital town of most of the developing countries is a result of the

following :

(1) Preference for large cities for better governance.

(2) Protection of large amount of land for agricultural development.
(3) Financial Crunch to disperse urbanisation.

(4) Past colonial system of development.

According to the census of India 2011, which of the following state comes first in

population density ?
(1) Kerala (2) West Bengal
(3) Bihar (4) Odisha

Which among the following is not true about the ‘seeking/available for work information
provided by the Census of India 2011 ?

(I) 2011 census for the first time included this information.
(2)  Seeking/available for work provides fairly accurate information on unemployment.
(3)  Seeking/available for work includes non-worker and marginal workers.

(4) The information is available for both males and females.



32.

33.

34.

35.

36.

Frefefad § 9 T et 5 TR Saen 9 gig 1 77 ?
(1) SFEEmEITE |

(2) SEIMERIOT 3Mfaeh sl T & |

(3) fafmior &5 (e d9e) ¥ gig I € |

(4) o SRR Al aST ¥ E |

IR | forT T fhg v it fopam ST & 2
(1) 9T 1000 AT W g& | (2) 9T 1000 JEET W Aiged |
(3) Wi 100 HiEesti W g& | (4) Ufd 100 &6 U< Ay |

ST TTRTERIICT ST o ASTAT 7RI | 7Y 3t S =1 | & foheehr aftomy & 2
(1) FER o (W) % feIT o 9T i aaa

(2) F foera & forw g & faermet 9T =t w1

(3) TR FI FeATd FA & T T dere

(4) fom 3t famma siafateme e

oo

IRA ! STRIUET-201 1 & AR, FHe=fafad § SR I59 A JEAdr § 799 TFF W 2
(1) = (2) TfvEs s
(3) fwr (4) g

IRA Sl SFOMAT-2011 FRT WG 1 Gl T i Bl/Sueteddl & aR § Fefeiad § 9 sH 9t
TS 1 el TEl & 2

(1) SFTUAT-2011 | Tl SR 98 AT IMMHA i TS |

(2) A B HE/STAKT SRISTRT & S) H THMEd 9§ T GoqT St § |
(3) I H AU § A-THp 3 i i et & |

(4) T I gET SR Afeerai S % foT Suete ¥ |
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37. Which amongst following is not part of urban health care under Draft National health
Policy 2015 ?

(1) To cover cities/towns with more than 50,000 population.

(2) Developing sustainable models of partnership with for profit and not for profit
sector for health care delivery.

(3) Convergence with various schemes relating to wider determinants of health like
drinking water, sanitation, school education, etc.

(4) Capacity building of community based organisations and establishment of

appropriate referral mechanism.

38. Which amongst the following are the free entitlements of pregnant women under the
Janani Shishu Suraksha Karyakatam (JSSK).

(1) Free and cashless delivery.
(2) Free and cashless delivery and free diagnostics.
(3) Free and cashless delivery, free diagnostics, free diet during stay in hospital.

(4) Free and cashless delivery, free diagnostics, free diet during stay in hospital, free

transport from home to health institutions.

39. Who proposed the decade synthetic cohort method for computing age of marriage ?
(1) S.N. Agrawal (2) J. Hajnal
(3) C. Chandrasekaran (4) J.R.Rele

40. Assertion (A) : Ninety five percent of the World’s births to adolescents occur in

developing countries.

Reason (R) : Early pregnancies among adolescents reflect powerlessness, poverty and
pressures from partners, piers, families and communities. And in too many

instances, they are the result of sexual violence or coercion.
Codes :
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, (R) is false.
(4) (A) is false, (R) is true.
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37. Trafafed & @ $F-a1 92 T W Hid-2015 % ST TRIT WS S@9Tet 1 90T el § 2

38.

39.

40.

(1) 50,000 ¥ 31fereh SFHEEAT a7l I/ i IMHA (HeR) BT |

(2) T @ UEH HH & a1 H A T o1 o (i) & WY WIERRT % 9dd Higed
TRt T |

(3) UFSTAl, T, Whelt o1t oTfE S e o oAk FEReR (feefimew) & dafua fafim
ST & T TGO (Frasid)
(4) THIE TR HISHT T AT [ 37 ST IHIeT T T T

FAfetEd o S T a1 ST 1Y) T kT (SLUG.UE.%,) & Sfaid T Aeest s

9310k EhERT (FTETTH) & 2

(1) .3 Ud Thsfed (hTerd) uad

(2) T3 e Teadled vad, Fges Fem

(3) .o we ThRfEd v, Mo (R, STt § @ % IR .30 3R

(4) T30 wd THied wHa, FYew MM, WA § @ % SRE MIeH IR, W H
T M e 3o TRae

Toha foaTe ek 311 WIUHT i IR AT SR Ugia JReifer foham 2
(1) UHTA. 3wE (2) S A
(3) H TSI (4) IR A

ATHHAT (A) : ThTRTerEn g arell fawe &bt 95% i foehrasier 391 § I1E STt € |

A% (R) : FRTRTEer § M, Sifoei=ar, T X Siia Tl SHsy Qiie, URar a1 e i
RE 9§ TS el Sare i [&ATd S9ar € | 3} ek 7ol § 9 I 6T ao1 STeeed! sl
FAST BT & |

(1)  (A) 3R (R) 3HI W&l & T (R), (A) I el AT FIA & |
(2) (A) 3R (R) IH el &, W (R), (A) F T&t SARSAT F&l el |
(3) (A)TE WR) TS |
(4)  (A) 7T € 3R (R) Wel & |
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41. Which one of the following is true about Polio ?

(I) Water borne disease (2) Air borne disease

(3) Vector borne disease (4) Contagious borne disease

42. Neo-classical macro-economic theories of migration emphasizes on which of the

following ?

(I) Labour market

(2) Marriage market

(3) Household’s labour portfolio diversification

(4) Individual choice

43. According to census of India 2011 information, which among the following state has the

lowest proportion of slum households to urban households ?
(1) Madhya Pradesh (2) Jharkhand
(3)  Gujarat (4) Kerala

44. Index of ageing is a ratio of which of the following ?
(1) Elderly population in 60 + age group to young population under 15 years.
(2) Elderly population in 60 + age group to population in 15-59 years age.
(3)  Young population under 15 years age to elderly population in 60 + age group

(4) Population in 15-59 years age to elderly population in 60 + age group.

45. For estimation of internal migration movement which one among the following is not

used ?

(1) Place of birth of the person.

(2) The last or previous place of residence.

(3) Duration of stay of a person at the present place of residence.

(4) Total count in a census and available age-sex distribution of the population.



41.

42.

43.

44.

45.

=7 5 9 i 91 7o i o foug ¥ wel g 2
(1) U TA-SIHT SHHRT (2) U AY-SAT AR

(3) TS WEEH (AF FH) SHRI (4) UH Thh SR

TEE % G-I Fed-31eh (i 0 7 ¥ o5 0 a1 31 € 2
(1) "R

(2) To@E TSR

(3) UNER 1 o1 TR oo

(4) TR T

IR B STUAT-2011 St T & 3TER, Fefeiied § @ 69 T59 § TRIF uRari & gormr §
T STt 3 RERT T Feam ST € 2

(1) 9T e (2) TREE

(3) TR 4) =

= o & IS T Geehich [hEehT 3TUT € 2

(1) 1539 ¥ 9 37 Pl JaT TG D! T H 60 + T & W THE Fl Fg ST

(2)  15-59 a9 FI I FH TG Dt oI H 60 + T F 3T THE Hl F§ I

(3) 60 + a9 & W FYE I T | 15 99 F Y Y I SHE@T

(4) 60 + a9 & 30 TYE I g TG B! oA T 15-59 I Bt IH hl STHGEAT

FrAfeRad & 9 fepaen STAT STidRe Hor Tiatary o 3ot o forl el &l € ?
(1) =T % S0 T &

(2) 3w o7gan st e w= &

(3) TTHM o T O AR o B H Iary

(4) STRIOAT H o1 Tl QT STHEe 1 Suered Tg-ferT foreor
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Read the following table and answer questions (46 to 50).

Life Human
. Average | Expected
Country Per cap.lta Expec.tancy yearsof | years of Development
Income in $ at birth ) ) Index (HDI)
(years) schooling | schooling rank in the world

Sri Lanka 5170 75.1 9.3 12.7 92
India 3285 65.8 4.4 10.7 136
Pakistan 2566 65.7 4.9 7.3 146
Myanmar 1817 65.7 3.9 9.4 149
Bangladesh 1785 69.2 4.8 8.1 146
Nepal 1137 69.1 3.2 8.9 157

Source : Human Development Report 2013.

46. Which of the following countries has lowest human development index ?
(1) Nepal (2) Myanmar
(3) Pakisthan (4) India

47. Which country among the following has highest expected years of schooling ?
(1) Pakisthan (2) SriLanka
(3) India (4) Nepal

48. Which of the following given counties are arranged in ascending order of Life
expectancy ? Choose the correct answer.
(1) India, Sri Lanka, Bangladesh, Nepal.
(2) Nepal, Sri Lanka, Bangladesh, India.
(3)  Sri Lanka, Bangladesh, Nepal, India.
(4) Bangladesh, Nepal, Sri Lanka, India.

49. Which country among the following has high per capita income in US $ ?
(1) India (2) Pakisthan
(3) Myanmar (4) Nepal

50. Which of the following countries are arranged in descending order of average years of
schooling ? Choose the correct answer.
(1) Nepal, India, Bangladesh, Pakisthan.
(2) India, Pakisthan, Nepal, Bangladesh.
(3) Pakisthan, Bangladesh, India, Nepal.
(4) Bangladesh, Pakisthan, Nepal, India.
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46.

47.

48.

49.

50.

o

frtefiaa difersrt = afew 2R 9 (46 F 50) T ST ST :

wifer st FTHUW | whelt e e % forwar % wra fawera
W A § (STeW) | Sia= Jeamwn | & S . qaHH
| @) ay % (TI 2. I
BISEDl 5170 75.1 9.3 12.7 92
qR 3285 65.8 4.4 10.7 136
BliEasin) 2566 65.7 4.9 7.3 146
BIER 1817 65.7 3.9 9.4 149
EILSIEN] 1785 69.2 4.8 8.1 146
JoTer 1137 69.1 3.2 8.9 157

Hiq : g T @i 2013.

frefetiad § 9 Tohd <91 1 Al Toehre e € 2

(1)
3)

ELIG]
BlETsIE)

Frefeiad § @ 59 39T § Thell TR1R1T T UeaioTd o qaied & ?
(2) et
(4) U

(1)
3)

BlETsIET
qR

(2) =|ER
(4) 9Ra

Tt § & 3 F 97 STe-Iee % TRIE! 0 H =ared & | 9el 3% %l 9T |

ey
2
3)
“4)

frfefiaa @ @ T 391 = eitent Sor ($) | S<3 uiq =fad o1 & 2

ey
3)

=R

(2) IR
(4) A

frfated & F o <90 1 T Thetl 18T & i 9d a9 & 3TeRiEl A H =ared § 2 el ST
& gHT |

€]
2
3)
4
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